

Determine the inverse z-Transform of the

$$F(z) = \frac{1}{(1+z^{-1})(1-z^{-1})^2}$$

$$= \frac{1}{\left(1+\frac{1}{z}\right)\left(1-\frac{1}{z}\right)^2}$$

$$= \frac{1}{\left(\frac{z+1}{z}\right)\left(\frac{z-1}{z}\right)^2} = \frac{1}{\frac{(z+1)(z-1)^2}{z^3}}$$

$$= \frac{1}{(z+1)(z-1)^2} \times \frac{z^3}{1} = \frac{z^3}{(z+1)(z-1)^2}$$

$$\frac{F(z)}{z} = \frac{z^2}{(z+1)(z-1)^2}$$

By Partial fraction expansion, we can write

$$\frac{F(z)}{z} = \frac{A_1}{(z+1)} + \frac{A_2}{(z-1)^2} + \frac{A_3}{(z-1)}$$

$$A_1 = (z+1) \times \frac{F(z)}{z} = (z+1) \times \frac{z^2}{(z+1)(z-1)^2} \Big|_{z=-1} = \frac{(-1)^2}{(-1-1)^2} = \frac{1}{4} = 0.25$$

$$A_2 = (z-1)^2 \times \frac{F(z)}{z} = (z-1)^2 \times \frac{z^2}{(z+1)(z-1)^2} \Big|_{z=1} = \frac{1}{1+1} = \frac{1}{2} = 0.5$$

$$A_3 = \frac{d}{dz} \left[(z-1)^2 \frac{F(z)}{z} \right] \Big|_{z=1}$$

$$A_3 = \frac{d}{dz} \left[(z-1)^2 \times \frac{z^2}{(z+1)(z-1)^2} \right] \Big|_{z=1}$$

$$A_3 = \frac{d}{dz} \left[\frac{z^2}{z+1} \right] \Big|_{z=1} = \frac{(z+1) \times 2z - z^2}{(z+1)^2} \Big|_{z=1} = \frac{(1+1) \times 2 \times 1 - 1}{(1+1)^2} = \frac{4-1}{4} = \frac{3}{4} = 0.75$$

$$\therefore \frac{F(z)}{z} = \frac{A_1}{(z+1)} + \frac{A_2}{(z-1)^2} + \frac{A_3}{(z-1)}$$

$$= \frac{0.25}{z+1} + \frac{0.5}{(z-1)^2} + \frac{0.75}{(z-1)}$$

$$F(z) = 0.25 \cdot \frac{z}{z+1} + 0.5 \cdot \frac{z}{(z-1)^2} + 0.75 \cdot \frac{z}{(z-1)}$$

We know that

$$z[a^k] = \frac{z}{z-a} ; z \left\{ \frac{az}{(z-a)^2} \right\} = ka^k \text{ and } z\{u(k)\} = \frac{z}{z-1}$$

taking Inverse z-Transform of $F(z)$ we get

$$f(k) = 0.25 \cdot \frac{z}{z-(-1)} + 0.5 \cdot \frac{z}{(z-1)^2} + 0.75 \cdot \frac{z}{z-1}$$

$$f(k) = 0.25 \cdot (-1)^k + 0.5 k(1)^k + 0.75 u(k) \quad \underline{\underline{Ans}}$$

Theorem

continuous function

$$\textcircled{1} \quad z[kf(k)] = \left(-z \frac{d}{dz}\right) \cdot F(z)$$

$$\text{L.H.S} = z[kf(k)]$$

$$= \sum_{k=0}^{\infty} k f(k) \cdot z^{-k}$$

$$\Rightarrow -z \sum_{k=0}^{\infty} \frac{k f(k) \cdot z^{-k}}{-z} \quad \left\{ \begin{array}{l} \text{Multiply \& divide} \\ \text{by } -z. \end{array} \right.$$

$$\Rightarrow -z \left[\sum_{k=0}^{\infty} -k f(k) \cdot z^{-k-1} \right]$$

$$\Rightarrow -z \left[\sum_{k=0}^{\infty} f(k) \frac{d}{dz} (z^{-k}) \right] \quad \left(\frac{d}{dz} z^{-k} = -k z^{-k-1} \right)$$

$$\Rightarrow -z \cdot \frac{d}{dz} \left[\sum_{k=0}^{\infty} f(k) z^{-k} \right]$$

$$\boxed{z[kf(k)] = \left(-z \frac{d}{dz}\right) F(z)} \quad \text{Proof}$$

$$z[k^n f(k)] = \left(-z \frac{d}{dz}\right)^n \cdot F(z)$$

$$z[k u(k)] = -z \frac{d}{dz} \cdot U(z)$$

$$= -z \frac{d}{dz} \left[\frac{z}{z-1} \right]$$

$$z[ku(k)] = \frac{z}{(z-1)^2}$$

Linearity Theorem

$$z[af(k) + bg(k) + ch(k)]$$

$$\Rightarrow aF(z) + bG(z) + cH(z)$$

$$z[au(k)] = a \cdot u(z)$$

$$= a \cdot \frac{z}{z-1}$$

$$\frac{(z-1) \frac{d}{dz} (z) - z \frac{d}{dz} (z-1)}{(z-1)^2}$$

$$\frac{(z-1) \times 1 - z \times 1}{(z-1)^2}$$

$$\frac{z-1-z}{(z-1)^2} = \frac{-1}{(z-1)^2} \cdot z^2$$

$$= \frac{-z}{(z-1)^2}$$

for unit step function

$$u(t) = 1$$

$$z[u(t)] = u(z) = \frac{z}{z-1}$$

8th shifting theorem-

Let, $g(k) = f(k+1)$

$$Z[f(k+1)] = \sum_{k=0}^{\infty} f(k+1) z^{-k}$$

$$= Z \sum_{k=0}^{\infty} f(k+1) z^{-k-1}$$

(such end is cases from multipl & divided z)

$$= Z \sum_{k=0}^{\infty} f(k+1) z^{-(k+1)}$$

let $k+1 = n$

$$= Z \sum_{k=0}^{\infty} f(n) z^{-n}$$

when $k=0, n=1$
 $k=\infty, n=\infty$

$$\Rightarrow Z \sum_{n=1}^{\infty} f(n) z^{-n}$$

$$\Rightarrow Z \left[\sum_{n=0}^{\infty} f(n) z^{-n} - f(0) z^{-0} \right]$$

$$\Rightarrow Z [F(z) - f(0)]$$

$$Z[f(k+1)] = Z[F(z) - f(0)]$$

$$= ZF(z) - Zf(0)$$

III, $Z[f(k+2)] = Z^2 F(z) - Z^2 f(0) - Z f(1)$

$$Z[f(k+3)] = Z^3 F(z) - Z^3 f(0) - Z^2 f(1) - Z f(2)$$

$$Z[f(k+n)] = Z^n F(z) - Z^n f(0) - Z^{n-1} f(1) - Z^{n-2} f(2) - \dots$$

S.No	discrete time signal x[n]	Z-transform X(z)	ROC
6.	$a^n u(n)$	$\frac{az}{(z-a)^2}$	$ z > a $
7.	e^{-an}	$\frac{z}{z - e^{-a}}$	$ z > e^{-a} $
8.	ne^{-an}	$\frac{ze^{-a}}{(z - e^{-a})^2}$	$ z > e^{-a} $
9.	$\sin \omega_0 n$	$\frac{z \sin \omega_0}{z^2 - 2z \cos \omega_0 + 1}$	$ z > 1$
10.	$\cos \omega_0 n$	$\frac{z(z - \cos \omega_0)}{z^2 - 2z \cos \omega_0 + 1}$	$ z > 1$
11.	$\sinh \omega_0 n$	$\frac{z \sinh \omega_0}{z^2 - 2z \cosh \omega_0 + 1}$	$ z > 1$
12.	$\cosh \omega_0 n$	$\frac{z(z - \cosh \omega_0)}{z^2 - 2z \cosh \omega_0 + 1}$	$ z > 1$
13.	$e^{-an} \sin \omega_0 n$	$\frac{ze^{-a} \sin \omega_0}{z^2 - 2ze^{-a} \cos \omega_0 + e^{-2a}}$	$ z > e^{-a} $
14.	$e^{-an} \cos \omega_0 n$	$\frac{z(z - e^{-a} \cos \omega_0)}{z^2 - 2ze^{-a} \cos \omega_0 + e^{-2a}}$	$ z > e^{-a} $
15.	$a^n \sin \omega_0 n$	$\frac{za \sin \omega_0}{z^2 - 2za \cos \omega_0 + a^2}$	$ z > a $
16.	$a^n \cos \omega_0 n$	$\frac{z(z - a \cos \omega_0)}{z^2 - 2za \cos \omega_0 + a^2}$	$ z > a $

inverse Z-Transform

(1) Partial fraction

(2) Long division Method

(3) Residue Method